
Serial No.4309
Checked By:

     Tech
     Date

Box 1 - 1943C Display
Part No. Description Quantity Yes Remarks

1 RDP139 10.4" Color LCD Display 1
2 008-524-710 White Plastic Facia Cover 1
3 008-524-700 Mounting Bracket 1
4 008-523-650 Mounting Knob 2
5 IME-350-30Z Installation Manual 1
6 OME-350-30Z Operator's Manual 1
7 E32-000-07Z "Change of Fuse" Notice 1
8 000-144-471 RMC100 Remote 1 sub 000-089-885
9 100-292-801 Vinyl Case 1 "
10 000-142-527 AA Battery 2 "
11 100-292-791 Label 03-153-1314-0 Blue 1 "
12 100-292-821 Label 03-153-1315-0 Black 1 "
13 100-292-831 Label 03-153-1316-0 Gold 1 "
14 100-292-841 Label 03-153-1317-0 Silver 1 "
15 000-549-013 Fuse FGBO 7A 3
16 000-549-014 Fuse FGBO 15A 3
17 000-809-171 Nylon Cable Tie 120mm 1
18 100-292-140 Fuse Label 1 3A5A7A
19 000-802-081 Tapping Screw 5x20 4
20 000-804-742 Washer Head Screw M4x20 6
21 100-292-770 Template Sheet 1
22 000-154-025 Power Cable Assy w Plug 5M 1
23 100-292-130 Card Removal Wire Tool 1
4 GAS-KET-104 Display Gasket for 10.4" NavNet 1

Box 2 - Gearbox
Part No. Description Quantity Yes Remarks

1 RSB0070 Gearbox with RTR059 XCVR 1
2 Reducer Grommet 1 inside gearbox
3 100-275-580 Corrosion Proof Mat 1
4 000-515-332 Plastic Cap 4
5 000-863-112 Hex Nut M12 4
6 000-864-132 Flat Washer M12 4
7 000-864-263 Spring Washer M12 4
8 000-862-191 Hex Bolt M12x60 4
9 000-863-109 Hex Nut M6 1
10 000-864-129 Flat Washer M6 3
11 000-864-260 Spring Washer M6 1
12 000-862-180 Hex Bolt M6x25 1
13 000-141-084 EMI Core RFC-13 3
14 000-566-000 Grounding Cable 340mm 1

For Internal Use Only

PACKING LIST FOR 1943C

RDP139

RSB0070-059

Page 1 of 2



Serial No.4309-
Checked By:

     Tech
     Date

Box 3 - Antenna
Part No. Description Quantity Yes Remarks

1 008-219-740 Curved Face 4' Antenna (side feed) 1
2 000-851-313 80mm "O" Ring 1 sub 008-225-130
3 000-854-118 "3 BOND" Adhesive 1 "
4 000-862-187 Hex Bolt M8x30 4 "
5 000-854-130 M8 Flat Washer 4 "
6 000-864-262 M8 Spring Washer 4 "

Box 4 - Cable
Part No. Description Quantity Yes Remarks

1 000-140-435 15M IC Cable w Connectors 1 20, 30M available

rev: 11/22/04

For Internal Use Only

PACKING LIST FOR 1943C

XN12A/4

008-523-220

Page 2 of 2


